Efficiency vs dr

o 0.05——
g F
©.045F -+

ti st

+ ol ITTT
'g q-"" —a— _TT__mkFit-DQM_origi
K —«— DQM_TT__mkFit-DQM_origi
0.8[-| —— DQM_TT__mKFit-DQM_mod-

L

H B (1114
1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001

1073 1072 107
AR(TP, jet)

Efficiency vs pu
> 0.01,

o
©.009
.008
(]
‘©.007
=
®.006
0.005
0.004
0.003
0.002
0.001F-- -+
of—
1.4
1.2

il
0.8

Ratio

O[T T T[T

364050 60 70 B0 90 100
Pileup

N



	Contents
	Page 1


